
OIL SEPARATOR 
(2015-2017 MUSTANG GT) 

(2011-2019 F-150 ALL) 

INSTALLATION INSTRUCTIONS 

CONTENTS 

(1) Catch Can

(1) 5/8" Hose

(4) Hose Clamps

(2) M6 Clip Nuts (F-150)

(2) M6 Bolts {F-150)

(2) M4 Phillips Head Screws (FlSO)

(1) 4 Hole Mounting Bracket (FlSO)

(1) M6 Allen Bolt (Mustang)

(1) M6 Lock Washer (Mustang)

(1) 2 Hole Mounting Bracket (Mustang)

TOOLS REQUIRED 

FlSO 
10mm Socket and Ratchet 

5/16 Drill Bit and Drill 

Flat Head Screw Driver 

Razor Blade 

Mustang 
8mm Socket and Ratchet 

Flat Razor Blade 

Flat Screw Driver 

6mm Allen Wrench 

SKU # 408025 463171 415795 

410934 T543368



FlSO 

STEP 1 

Identify the parts required for your application: 
(1) Catch Can

(1) 5/8" Hose

(4) Hose Clamps

(2) M6 Clip Nuts (F-150)

(2) M6 Bolts (F-150)

(2) M4 Phillips Head Screws {FlSO)

(1) 4 Hole Mounting Bracket {FlSO)

STEP2 

On newer vehicles the engine cover may be bolted down with (2) 10mm nuts. Remove the retaining 

nuts prior to removing the engine cover. Remove the oil cap(if necessary) and firmly pull up on the 

corners to remove it from its mounting posts. Using a pry tool, gently pry the wiring harness locater 

from the battery tray (Circled above) 









Mustang 

STEP 1 

Identify the parts required for your application: 
(1) Catch Can
(1) 5/8" Hose
(4) Hose Clamps

(1) M6 Allen Bolt (Mustang)

(1) M6 Lock Washer (Mustang)

(1) 2 Hole Mounting Bracket (Mustang)

STEP2 

Begin by removing the engine cover to gain access to the PCV connections. Pull up on the front 

corners to release the cover from it's mounting posts. 








	408025 - C&L - Oil Separator (15-17 GT)-01
	408025 - C&L - Oil Separator (15-17 GT)-02
	408025 - C&L - Oil Separator (15-17 GT)-03
	408025 - C&L - Oil Separator (15-17 GT)-04
	408025 - C&L - Oil Separator (15-17 GT)-05
	408025 - C&L - Oil Separator (15-17 GT)-06
	408025 - C&L - Oil Separator (15-17 GT)-07
	408025 - C&L - Oil Separator (15-17 GT)-08
	408025 - C&L - Oil Separator (15-17 GT)-09

